
27A

TM40 Parts Diagram 2023 | TM40 240 volt UK

TileMaster Global Ltd
Unit 11 Shepley Lane
Stockport, SK6 7JW
0161 444 0377  www.tilemaster.co.uk

Item
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27

27a
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51

Part No.
C5141
C5241
C5138
C5081
SB17282
SB17034
C5083
C5094
C5095
M10X40BH
SB17632
C1013
C5096
M9W
M8X20HH
M8NSB
M6X12PPB
M10W
M10SNB
C5131
M6X16CSK-SC-5S
M5X10SDP
M8X16CSK-SC-5S
SB17638
C5248
C5123
C5324
C5324a
C5054
SB13488
SB13412
M8NH
VA9317-1
SB17687
C5244
C5059
C5321
SB17692
SB16258/A
M6X16BH
M8SP
SB17594
M6SP
M3X25PP
C5171
M8WSH
M6X12GSK
C5155
C1404
AYH1307
SB13203
M4X12PP

Qty
1
1
1
1
2
2
1
2
1
4
4
1
2
8
4
6
6
4
4
1
3
2
4
4
1
1
1
1
1
1
1
2
1
1
1
1
1
1
1
8
4
1
8
4
1
2
4
1
1
1
1
2

Description
Motor Cover
Motor
Motor Mount Plate
Axle Assy
Wheel
Starlock cap
Handle Support Bar
Plate
Clamp
M10 x 40 Hex HD Set
T Bush
Clip
Pivot Bracket
M8 Plain Washers
M8 x 20 Bolts
M8 Stover Nut
M6 x 12 Pozi Pan Screws
10mm Washer
M10 Stover Nut
40cm Top Plate
M6 x 16 CSK Socket cap screws stainless
Socket Screw Dog Point
M8 x 16 CSK Socket Cap Screw Stainless
Vibration Mount
UK Mains Cable
Cam Assy
Vibration Plate Assy
Replacement base plate
Bearing Housing
Tolerance Ring
Bearing
M8 Half Nut
Solution Dispenser
Spray Nozzle
Spray Backet
Pressure Bottle
Antipipe Vibration pad
Guy Rope Slider
Nylon Cord 450mm LG
M6 x 16 Hex HD Set
8mm Spring Washer
O Ring
M<6 Shakeproof Washer
M3 x 25 Pozi Pan Screw
Clamp and Bar Assy
M8 Shakeproof Washer
M6 x 12 CSK Pozi Pan Screw
Bottle Bracket Assy
Clamp
Handle Assy
PVC Pipe x 1.3Mtr
M4 x 12 Pozi Pan Screws


